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Universe: Adults resident in Scotland
Methodology: Online

Sample size: 1020

Fieldwork dates: 05-11 November 2020

Weighting: All the results were weighted by age, sex, and country of birth, and voters were also weighted to match the
2014 independence and 2019 Westminster election results.
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Panelbase Political Polls

[Base: 1,020 Total Gender X Age SEG 2019 Westminster 2014 Scottish Scottish Referendum Voting Country of Birth
Referendum Intention
Male x : Male x ; Male x ;Female ;Female ; Female | ABC1 ; C2DE CON LAB Lib SNP [Ivoted :Ivoted ; Idid Yes No Don't | Would | Scotlan:England; Other
16-34 ; 35-54 55+ ix 16-34ix 35-54; x 55 Dem Yes No not know not d

Total 1020 151 162 177: 152 171 207 567; 453 225 167: 85! 403 403; 499; 118 497; 392 105 10| 847; 92 82|
(1020)| (124); (175);: (189): (133): (182): (216)| (554); (466)| (230): (128); (74); (447) (467); (435): (118)| (531); (369); (94) (9) (806); (148): (66)
Q2. If another UK Parliamentary Election was held tomorrow, |Base: All respondents 1020 151 162 177 152 171 207 567 453 225 167: 85 403 403 499: 118 497 392 105: 10| 847 92 82
how likely would you be to vote? (1020)| (124): (175): (189): (133): (182): (216)( (554): (74); (447)| (467): (435): (118)| (531): (369): (94). (9)]..(806): (148). (66)
10 - Certain To Vote 750 100: 121 158: 88; 120: 162 434; 61 336 307 392 51| 377 309 63; 0 630 70: 50
74%) ... 66%: . 75%: 8 70%:  78%| .. 77%: 72%:  83%)| 76%: 79%: . A43%| . 76%: 79%:. . 60%: 0|..74%:  76%: 61%
9 84| 14 13: 17: 19 43; 7 28| 31 43; 10| 40; 36; 7 1] 69 10:; 5
8% 9% 8%; 7% 6% 10% 9% 8% 8% 7% 8% 9% 9% 8% 9% 7% 11% 8% 11% 6%
8 58| 12: 5 3 17: 6 14 31 10: 18| 28; 22; 8 35 16; 7 1] 47: 4 6|
6%, 8%; 3% 2%:.... 12%: 4%; 7% 6% 11% 4% 7% 4% 7% 7% 4% 6% 8% 6% 5% 7%
7 37| 10: 9 0 8 5 4 21! 1 8 9 18; 9 14 15; 6 1] 28 2 6|
4% 7% 5% 0: 5% 3% 2% 4% 2% 2% 2% 4% 8% 3% 4% 6% 11% 3% 3% 8%
6 18| 5 2 1 5 2 2 9 2 3 7 6 4 9 4 4 1] 18; 0 0|
2%, 3% 1%:  <1% 3% 1%: <1% 2% 2%:.... <1%] 2% 1% 4% 2%: . <1%; 4%:  11% 2% 0; 0|
5 31 6 5 1 6 8 4 7 2 6 12; 9 9 15; 6 8 1] 24; 3 4
3% 4% 3%; . <1%: 4% 5% 2% 1% 3% 1% 3% 2% 8% 3% 2% 7% 11% 3% 3% 5%
4 5 0 0 0 2 1 1] 4 1] 0 0 1 0 1 3 2| 1 1 1 1] 3 0 1]
<1%] 0:  <1%: 1} 2%; <1%: <1%)|  <1%: <1%) 0: [} 2% 0| <1%:  <1%: 1%)|  <1%:  <1%: 1%: 12%| <1%: <1%; 1%
3 11 1 2 0 5 3 1] 4 7 0 1 0 1] 3 2 6| 2 2 4 1] 9 1 1]
1%)  <1%:  <1%: 0: 3% 1%: <1%| <1%: 2% 0: <1% 0: <1%| <1%: <1% 5%| . .<1%;: <1% 4%;:  12% 1%;: <1% 1%
2 9| 1 1 1 3 3 0 4 5 0 0 1 1] 2 1 6| 2 1 3 1] 4 1 5
<1%]| .. <1%: . <1%;:  <1%: 2% 2% 0. .<1%: 1% 0:; [} 1%: <1%|  <1%:  <1%: 5%)|...<1%;: <1% 3% 9%)|.. . <1%: <1% 6%
1 - Certain Not To Vote 18| 1 3 1 8 5 0 10: 9 0 0 0 1] 4 3 12] 2 2 1 1] 15; 0 3
2%)|  <1%: 2%;  <1%: 5% 3% 0] 2% 2% 0; 0; 0:  <19% 1%; <1%: 10%| <1%;: <1% 1%;:  14% 2% 0; 4%
Mean score 9.1) 9.0: 9.2 9.8: 8.3 8.9 9.5] 9.3 9.0} 9.7 9.5 9.2 9.6 9.3 9.5 7.2, 9.4: 9.5 8.4: 4.9] 9.2 9.4: 8.3
Q3. Who would you vote for if a UK Parliamentary Election Base: All likely to vote (8-10 at 892 126 140 173 114 144 195 509 383 213 154 77 382 365! 458 69 451 360: 77; 2| 746 85 61
took place tomorrow? (8-10 at Q2) Q2) respondents (894)| (103): (150): (185): (100): (152): (203)| (501): (393)| (219): (118): (68). (69)[ (486): (339); (66) (2)[ (709); (136): (49)
SNP 398 60: 66! 66! 62: 66 76 226 172 7 14 11 26 362 20 15; 0 358; 20 20
45%| . 48%;  47% 44%;  45%)| 3%  9%:  14% 37%|...80%; . 6%  19% of . .48%: 24%: 33%
Conservative 168| 17: 33; 102: 66 147 5 5 9 7 159 2 0 137 20 10|
19%)|  14%: 24%} 26%: 5%} 13%: 24%)| 20%: 17%| 69%: 4% 6% _ 2%| 4% 32%: 12%| 2% 44%: 3% o 18%: 24%: 17%
Labour 163 31 29; 31 17: 25; 30| 86 76 17: 111 9 15 36; 111 16 50: 89; 24; 0 129 17 16
18%|  25%: 219%: 189%: 15%: 18%: 15%)| 17%: 20%| 8% 72%!  12%:  4%)|  10%} 24%: 23%| 11%: 25%! 31% of . 17%} . 20%;  27%
Liberal Democrat 39 4 1 14 6 8 8 30: 9 3 3 32 1] 6 32 2 6 24; 9 0 28 9 3
4% 3%;: . <1%: 8% 5% 5% 4% 6% 2% 2% 2% 41%: <1% 2% 7% 2% 1% 7% 12% 0| 4% 11% 5%
Green 16| 2: 3 2 5: 4] 8! 9 2 3 3 3| 4 9 3| 7 7 3 0 13; 4 0|
2%, 2%: ... <1%; 2% 2% 4% 2% 2% 2%)| .. <1%; 2% 4%:  <1% 1%; 2% 5% 2% 2% 4% 0| 2% 5% [
Other 9 0 1 5 1 0 2 5 5 4 1 0 0 4 6 0 1 8 1 0 9 1 0
1% 0: <1%: 3% 1% 0: 1%)| <1% 1% 2%;:  <1%: 0: 0| <1% 1% 0|  <1%: 2% 1% 0| 1%;: <1% [
Don’t Know/ Not sure 92| 9; 8 18 20; 27| 49; 43| 32 17: 18 12| 17 63; 12| 19 51! 21! 1] 68: 12 12]
10%, 7% 6% 5%;.. . 16%;: 14%;: 14%| 10%;: 11%| 15%;: 11%: 24%: 3%, 5%; .. 14%;: 17% 4%:  14%:  27%; . 42% 9%; . 15%;: 19%
Prefer not to say 7 2 0 2 1 1 1] 3 4 1 0 0 0 1 3 2 0 3 3 1] 5 1 0
<1%] 2% 0 <1%: <1%: <1%: <1%| <1%: 1%| <1% 0: 0: 0| <1%: <1%: 3% 0 <1% 3% 58%)| <1%: 1% [})
Q3. Who would you vote for if a UK Parliamentary Election Base: All likely to vote (8-10 at 114 131 164 95 123 166 457: 337 181 138; 59 370 55 432! 307 54 o 673! 71 49|
took place tomorrow? (8-10 at Q2; excluding undecided) Q2) re.spondents, excluding (94); (141); (175) (84): (130); (175)| (454); (346)| (183). (106) (53) (413) s6)| (467); (286) (46) )| (646) (115) (39)
SNP 60: 66! 66! 62: 66 76 226 172 7 14 ilik 344 26 362 20; il 0 20|
51%: 41%: 65%: 54%: 46°%|  49%: 51% 4%:  10%: 18%: 93% 47%) .. 84% 7%: ... 28%: "] 41%
Conservative 17; 6 19; 47| 102 66 147 5 5 6 9 7 159 2 0 10|
15% 6% 15% 28% 22% 20% 81%: 4% 8% 2% 16% 2% 52% 4% 0| 21%
Labour 31 17 25 30 86 76 17 111 9: 15 16 50: 89 24 0 16
27% 18%: 20%: 18%| 19%: 23%| 10%: 81%: 15% 4% 29%| . 11%: 29%: _44% "] 33%
Liberal Democrat 4 1 14 6 8: 8| 30; 9 3 3 32; 1 2 6 24; 9 0 3
3%: <1%: 8% 6% 6% 5% 7% 3% 2% 2%: 54%: <1% 3% 1% 8%: 17% 0| 4%;: 13% 6%
Green 2 1 B z E 4] 8! 9| z 3 3 3| 3 " " g 0 il 4 0|
2%:  <1%: 2% 2% 4% 2% 2% 3%|  <1%: 2% 5%; . <1%] 6% 2% 2% 5% "] 2% 5% 0]
Other 0 1 5 1 0 2| 5 5 4 1 0 0 0 1 8 1 0 9 1 0
0 <1%: 3% 1% 0: 1% 1% 1% 2%: <1%: 0: 0| 0] <1%: 3% 2% 0| 1%: <1% [v)
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Panelbase Political Polls

[Base: 1,020 Total Gender X Age SEG 2015 Westminster 7014 Scottish Scottish Referendum Voting Country of Birth
Referendum Intention
Male x  Male x | Male x [Female [Female |Female | ABC1 | C2DE | CON | LAB | Lib | SNP |Ivoted [Ivoted | Idid | Yes | No | Dont ] Would |Scotian England] Other
16-34  35-54 | 55+ ix 16-34ix 35-541 x 55 Dem Yes | No | not know | not d

Total 1020 151, 162 177, 152 171 207| 567  453| 225 167 85  403| 403 499 118| 497 392 105 10| 847 92 82
(1020)| (124)) (175) (189). (133). (182) (216)| (554) (466)| (230) (128) (74) (447)| (467) (435) (118)| (531) (369) (94) _ (9)| (806)] (148) (66)
Q5. If another Scottish independence referendum was held | Base: All respondents 1020] 151, 162 177 152 171 207| 567 453 225 85 403| 403 499, 118 497, 392 105 10| 847 92 82
tomorrow, how likely would you be to vote? (1020)| (124)} (175) (189) (133). (182) (216)| (554) (466)| (230) (74); (a47)| (a67). (435) (118)| (531). (369). (94) (9| (806). (148) _(66)
1677 Certain To Viote 06| 106 1330 162 1030138 174|467 339197 67 3sgl TR0l a1s T se| T Aoz 342 57 I 7 T
79%|..70%; . 82%: . 92%:  68%.  75% . 84%| . 82% . 75%|. 87%i . 77%...79%: . 87%|.. 82%  84%.  49%)|.  82% _87%.  54% o|..79%: . 85%i . 72%
5 78] 10 1 T T T S T T I T Rt [ T I T To| a2 s 10 o " 6a 5 8
7%| 6% 5% 5% 9% 119  8%| 7% 8%l 7% 8% 7%  6%| 7% 8% _ 8%| 8% 6% _ 9% ol 8% 6% 9%
§ P T 6 1 5 4T 0 ) 3 8 T o e s s o) 2[5 3 3
5%]|..10%:; . 3% <1%: . 6% . 3% . 6%| . 4%, . 6%| . 4% 5% . 9%  2%| 4% 3%  120%| 5% 2%  10% 42%| 5% 6% 3%
7 30| 2 h 7 7 i T ) 2T h 6 12 13 5 13 8 8 1|57 1 3
3%| 7% 1% <1% 5% 4% <1%| 3% 300l <106 6% 100 20| 3% 300 4%| 3% 200 8% 11o%| 3% <1061 39
§ 10 i P 1 i pi 1] 3 7 > pi 0 0 5 5 0 i 3 5 o 10 0 0
<1%)|. <% . 3% <1%: . <% . <1% . <1%| . <i%i. . 2%| <1% 2% 0 ol 1% <1% ol..<1% . <i%i 5% o|... 1% o ol
5 24 5 5 0 7 6 1 7 0 2 1 6 6 6 10 2 12 0 18 2 4
2%]| 3% 3% 0. 5% 3% <1%| 1% 4% O 1% 1% 106l 200 10 10%| 2% <10 119 ol 2% 2% 5%
i P 0 0 0 3 0 1] 3 1] 0 0 0 1] 0 3 1 0 1 1 1 3 0 1
<1%| o o 0..2% 0. <19%]| . <1%i . <1% 0 0...2%:  <1%) 0. .<1%. .. 1% 0..<1%: .. 1% 12%| <19 0...1%)
E] 3 0 0 0 1 1 0 2 0 0 3 0 0 0 0 2 0 1 0 1 1 0 1
<1%| 0 o 0. <1%:  <1% ol <1% o o o o o o o 2% 0 <1% 0 12%|  <1% o 1%
5 P 3 0 0 i pi 0 > 3 0 0 0 1] 0 1 3 0 1 1 3 > 1 1
<1%)|...1% o 0<% <1% o|..<1%; . <1%] 0 o 0..<1%) 0. .<1%. .. 2% 0..S1% .. 1% 23%|  <1%  <1%i 1%
1" Certain Not To Vote 16 1 3 3 7 4 0 7 9 0 0 1 3 i 0 1 0 0 0 0 14 0 3
2%]| <1% 200 <106 4% 20 ol . 1% 2% o 0. 1% . <1%| <1% 0..10%) 0 o o ol 2% 0....3%)
Miean score 0 Yo MM S AN W Yo S M Y Mo M- TNV M o I B S Y M S - B I S S M X
Q6. How would you vote in response to the question: Should | Base: All likely to vote (8-10 at 930 131 147, 173 124 151 203| 526, 404| 221 150, 80, 387 376, 472 83| 472 376 77 3 772 89 69
Scotland be an independent country? (8-10 at Q5) Q5) respondents (935)|_(108) (159) (185). (110) (160) (212)| (518) (417)| (226). (116) _(70). (431)| (439) (413) (83)| (508) (355) (68) _ (4)| (736). (143). _(56)
Yes G727 80 T e 79 207713 50l T o) 58 a0| a7z 0 0 o atal T 38T 30
51%|. 61% . 52%: . 45% 51%| . 6% 33% . 23% 219%: . 48%|_100% o o o|..54% 31% _a4%

No 376|340 eal T 83 160|202 322 26 0376, 0 o 289

40%| _26% aa%  a8%: 210% 42%. 52%| 41% _40%| 92% 7%]| 8% 8% _32% 0._100% o ol 37%

Bont know 73] 3 R T R > S| I R 1 5 18] TS T s T 1 0 77 o " es

8%]|...10% 4% 6% . 9% 11% _10%| 8%  8%| 29 5%]|... 4% 11%) _ 15% 0 0..100% o|... 8%
Q6. How would you vote in response to the question: Should |Base: All likely to vote (8-10 at 849 114 141 162 112 119 67: 368 362 420: 0; o 704 80: 65
ﬁﬁ‘é;‘is‘ed“f an independent country? (8-10 at Q5; Qs5) 863)| (97) (153); (175); (99) (94), (58) (412)| (423). (372) ©) (0) (680) (130); (53)
Yes o7 T R R T 1 T V1 M 7 T 6 /S T R
56%|.70%. . 54% _49%  77% 42%;  28%;  93%)|. 92%; 23% o 0| 59%:  34%i _47%
No 376|734l 64l 83 26 60 as 27| 29 322 3 of “Tasel 52 39
44%|  30%  46% 51% 23% 47% 57%| A45% 44%| 94% 58% 72%  7%| 8% 77% o of 41% 66% 53%
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Panelbase Political Polls

[Base: 1,020 Total Gender X Age SEG 2019 Westminster 2014 Scottish Scottish Referendum Voting Country of Birth
Referendum Intention
Male x | Male x | Male x | Female | Female |Female | ABCI | C2DE | CON | LAB | Lib | SNP |Ivoted [Ivoted] 1did | Yes | No | Dont ] Would | Scotlan England] Other
16-34 | 35-54 | 55+ ix 16-34ix 35-541 x 55 Dem Yes i No | not know i not d
Total 1020] 151 162, 177, 152, 171 207 567, 453| 225, 167, 85  403| 403, 499 118 497, 392, 105, 10| 847, 92, 82
(1020)] (124). (175) (189); (133) (182); (216)| (554). (466)| (230) (128) (74) (447)| (467); (435) (118)| (531) (369) (94). _ (9)| (806). (148) (66)
Q7a. If another Scottish Parliamentary Election was held Base: All respondents 1020] 151 162, 177, 152, 171} 207 567  453| 225 85 403| 403 499 105, 10| 847 92
tomorrow, how likely would you be to vote? (1020)] (124); (175); (189): (133); (182): (216)| (554); (466)| (230) (74);_(447)| (467); (435) (9)] .(806); (148)
10 Certain To Vote 773 oo; 129 isel 96 1241 167|451 321|188 61337 3191 oS o| 650 70
76%]| . 67%:. 79%  88%:  63%;  73%;  81%|  80%: 71%]|  83% 71%; . 84%]|  79%  81% ol .77%..76%
] 73] 13 5 10 10 19 16 33 a0 18 B 27 26 36 1 57 8
7%| 8% 3% 6% 7% 11%:  8%| 6%  9%| 8o 10%:  7%]| 7% 7% 11%]| 7% 8%  10%
8 58 13 6 4 14 [ BT I TRV 11 17 22775 F - 5 5
6%| . 8% 4% 2% 9ol 3ol  gopl ol Gopl S0 10%: . 4%| . 6% 5% 20%| . 6% 6% 6%
7 28| 10 6 h 6 3 2 13 15 2 3 9 13 5 1 24 4 o
3%| 7% 3% <1%: 4% 2% 106l 2060 3op| <iop 4% 2%| 3% 2% 11%]| 3% 4% ol
6 17 3 4 2 2 3 3 5 13 5 3 o 4 5 7 1 13 o 4
2%| 2% 2% 1% 1061 2061 2opl <iopi ol dopl 2o 0 <i%| 1% 100 11%] 1% <1% 5%
5 28| 7 6 B P 8 1] 10 17 1 6 2 6 8 6 0 24 3 1
3%| 5% 4% <1%: 3% 500 <ionl 2060 4opl  <1oi 4ol 2060 dopl ol top of 3% 3% 1%
7 12 2 2 o 6 1 1] 8 5 1 1 h 0 1 7 2 7 1 4
1%] . 1% <1% 0. 4% <1%  <1%| 1% 10| <100 <100 200 ol <1%: . 1% 24%|  <1%: 1% 5%
3 8 1 o o P 3 0 3 P o 1 o 0 1 3 0 5 1 2
<1%|  <1% o 0. 3% 2% o <1 <io 0. <% o o <1%  <io of <10l <ioi 30
3 6 1 2 1 2 1 0 4 2 o o o 1] 3 o 1 4 1 1
<1%|. <1%:. <1%:  <1%: 1%  <1% o .<1%:  <i% o o 0. <1%|  <i% o 9%| . <1%  <i% 1%
1~ Certain Not To Vote 18 1 3 2 8 P 0 8 9 o o 1 2 4 1 1 15 o 2
2%|  <1%: 20 <ioni Sl 20 ol .. 1% . 2% o 0 1% <o <o <iop 14%| 2% 0. 3%
Mean score ) MY S S S B S0 I S N S B B Y 5392 TS g
Q7b. Who would you vote for with your constituency vote if a | Base: All likely to vote (8-10 at 90| 126, 140, 170, 120, 149 198| 516, 388| 217, 148 78 382| 368 466, 71| 461 360, _ 80
Scottish Parliamentary Election took place tomorrow? (8-10 | Q7a) respondents (905)| (103); (150) (182) (105). (157). (207)| (507). (398)| (222) (113). (67). (424)| (428) (406). (71)| (494) (338) (70)
at Q7a) SNP @176 eel T 70l 6e 181] R 100" 345|288 103 30380 23 18!
47%| . 50%  47% _ 41%  57% 6%: . 47%)| . 4% 16%:  13%:  90%| 78%i _22%: 43%)|  82% 6% 22%
Conservative 166] 15 327 as 6 18 a9 100l 66| 146 1 6 6 10, 149 7 6 159 3
18%]| 120 23%  27% 5% 120 25%| 19% 17%| 68% 1% 8%  2%| 3% 320 10%| 10 44% o
Labour 1as| 2SR T 28 173 0 T e T e T 260 02 8 11 3277 104 77 36
16%]| . 20%:  22%  16%  14% 15% 10%| 15% 17%| 1200 6200 10%  3%]| 9% 2200 10%| 8%
Uiberal Democrat 0] 5 1 12 P 8 10 30 10 3 1 30 2 6 32 2 8
a%| 4% <1% 7% 3% 5% 5%| 6% 3%| 1% <1%: 39%: <1%| 290 7% _ 3%| 2%
Green 2¢] 3 3 4 8 5 14T 1 5 6 6 8 12 6| 1o
3%| . 3% 2% . 2% 3% 5% 306 300 3ol <ol 6ol 700 dopl ol 3ol gopl  op
Other 5 o o 2 0 2 1] h P 1 3 o 1] 2 2 0 2
<1% o o 1% 0 1% <106 <10 <ion| <10 o 0 <10 <1 <io ol <1 <1%% o
Bon't Know/ Not sure 59| 2 7 o0 T 0T B 51T 0T i) 11 T T T BT ) 29
1%]| 9% 5% 6%  17%  13%:  16%|  10%  12%| 14% 14% 24% 30| 506 140 2206 406 1406  37%
Prefer not to say 3 2 1 o 0 o 0 1 2 o o o 0 1 3 2 0 0 2
<1%| 2% <1% o o o of <1 <1 o o o o <i% o 3% o o 2%
Q7b. Who would you vote for with your constituency vote if a |Base: All likely to vote (8-10 at 112 132 161 100; 129 167 464: 338 186 127; 59 370 348 401 53| 442! 311 48; 1 676 72 54
Sf‘g;':h epfcr:fd'ﬁfg"zar‘rg;:z:z‘;” took place tomorrow? (8-10  |Q7a) respondents, excluding (93); (142)} (173)} (88)! (136); (177)| (460)! (350)| (190); (98)} (53)! (412)| (406); (350) (54)| (476); (201)} (42)) (1)| (651) (116) (43)
' SNP [ BT B 10 BT S TR 1 I 710 BT EEEE 10! 34s] T 388 33 i8 o s7s 347
44% 49%| _52%; 54%| 5% 18%; _17%: _93%]| _83% 7% 37% o| _55%; _33%. _42%
Conservative 46 6 18 4o 100l 66| 146 1 6 6 10 159 o 17132 2 13
29% 6% 14% 29%| 22% 20%| 79% 1%  10%  2%| 3% 37% 14%| 1% 51% 0. 100%| _19%: 30%:  24%
Labour 28 17T 0T e e T 26T 02 8 11 340 104 7736 03 i6 of i1 16 g
17%:  17%  18%  12%|  17%  19%|  14% 72%  13%  3%| 10%  26% _14%| 8% _30% _34% o _18% 22%  15%
Uiberal Democrat 12 4 8 10 30 10 3 1 30 2 6 32 2 8 24 7 0 27 6 5
7% 4% 6% _ 6%| 6%  3%| 1% <1% 51% <1%| 2% 8% 4%l 2% 8% 15% ol 4% 9% 120
Green 3 4 8 5 14T 1 B 6 6 8 2 6 10 8 7 0 18 4 4
2% 4% 6% 3%| 3% 3%]| <1%: 7% 9% 2%| 2% _ 3% __11%| 2% 3% 15% o . 3% 6% 7%
Other o o 2 o 2 1 1 4 1 o o 1 2 2 0 2 3 o 0 5 o o
o o 1% 0 1% <1o%| <1% 1% <1% o 0 <1%| <1% <1% o <1% 1% o o <i% o ol
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Panelbase Political Polls

[Base: 1,020 Total Gender X Age SEG 2019 Westminster 2014 Scottish Scottish Referendum Voting ‘Country of Birth
Referendum Intention
Male x | Male x { Male x | Female ; Female {Female | ABC1 | C2DE | CON { LAB | Lib | SNP |Ivoted {Ivoted | Idid | Yes No ! Don't } Would | ScotlaniEngland} Other
16-34 § 35-54 | 55+ ix 16-34ix 35-54i x 55 Dem Yes No  not know i not d
Total 1020 151 1620 177, 152, 171 207| 567, 453| 225! 167 85 403| 4037 499! 118] 497] 3920 105 10[ 847 92! 82}
(1020)| (124); (175); (189); (133): (182)! (216)| (554); (466)| (230): (128); (74); (447)| (467). (435); (118)| (531). (369); (94) _ (9)| (806). (148); (66))
Q7c. And who would you vote for with your regional vote? (8- | Base: All likely to vote (8-10 at 904| 126 140! 170; 120 149 198 466 71[  a61]  360; 80; 3| 755 83; 66
10 at Q7a) Q7a) respondents (905)] (103): (150) (182); (105); (157) (207) (406);  (71)| (494). (338) (70)  (3)| (719) (133): (53)
SNP 367, 53 54 98; 24| 327 23 16 17332 18
41% %: . 32%: 21%:  33%)| . 71%: 6% 19%:  37%)|  44%: 21%
Conservative 155] 27 48 137, 7 7 149 0 0| 120 21
17%|  13%: 19%: 28% 29%:  9%| 1% 41% o o| . .16%: 26%
Labour 137] 19 31 27 99 8| 36 83 17 0| 114 13 9|
15%| . 15%:  23%: 16% 21%:  11%)| . 8%:  23%:  22% 0| . 15%:  16%:  14%
Green 66 17 16 11 20 10) 47 12, 7 0 49 9 8|
7%|. . 13%:  11%: 6% 4% 14%)| 10%: 3% o| 7%  11%:  11%
Liberal Democrat a4 1 11 37 2 8 28 0 32 8 4
5%|...4%: <1%: 6% 8%:  3%| . 2% 8% o| .. 4% . 9% 6%
Other 20 1 1 9 11 0 9 11 0 18 2 0
2%|  <1%: 1% 5% 2% o ..2%: 3% o ..2%: 3% 0
Don't Know/ Not sure 109 9 10 11 65 17 26 54 1 84 12 13
12%| . 7% . 7%:. . 6% 14%:  24%)|  6%:  15% 26%| . 11%:  14%
Prefer not to say 6 4 1 0 0 4 1 0 1 5 0
<1%| 3% <1% o 0 6%| <1% 0 4% 37%| <1% o
Q7c. And who would you vote for with your regional vote? (8- |Base: All likely to vote (8-10 at 160: 101 124 162 456: 333 185 128: 62 364 339: 400: 50| 434 306: 52|
10 at Q7a; excluding undecided) Q7a) respondents, excluding (171); (87) (131)} (172)| (451); (343)| (188); (98): (55); (403)| (394); (349). (51)| (466). (287) (a1)
SNP 54 66: 67 7] 204163 10 18 10; 302|246 98; 24327 23 17
34%:  65%: 54% 49%| 5%} 14%:  17%:  83%|  72%} 24% 48%)| . 75%: 8% 33%
Conservative 48 6 19 se| 132 9 5 4 12i7137 7 7 1ag 14
30%:  6%: 15% 17%|  72%:  7%: 9%  1%|  4%: 34%: 13%| 2% 49% 27%
Labour 27 18 20 71 28 87 7 8 30 99 8| 36 83
17%; . 18%:  16% 21%|  15%: 68%: 11%:  2%| 9% 25%: 15%|  8%: 27% 18%
Green 11 5 8 24 1 121 10 35 36 20 10| 47 12
7% 5% 6% 7%)| . <1%:  9%: 15%: 10%| 11%: 5% 10%| 11%i 4% 15%|
Liberal Democrat 11 6 7: 12] 6 3 28 5 5 37; 2| 8; 28; 4
7%:;....6%: . 6% a%|  3%: . 2% 46%:  1%| 2%} 9% _ 4%| 2% 9% 7%
Other 20 1 1 9 0 3 8 8 0 1 10| 9 11] 0 9 11] 0
3%| <1%: 1% 6% 0 3% 2%| 4% 0 2% 3%| 3% 3% o 2% 4% 0
Q8. he UK Government is currently seeking to pass the Internal Market | Base: All respondents 1020 151 162} 177, 152, 171, 207 567, 453| 225, 167 85, 403| 403, 499 118| 497 392} 105 10[ 847 92 82|
Bill. The House of Lords Constitution Committee has stated that the
Bill would change the current powers of the Scottish Parfiament by (1020)| (124)) (175); (189) (133). (182); (216) (554); (466)| (230); (128) (74) (447)| (467) (435). (118)| (531). (369). (94)  (9)| (806). (148); (66)
allowing the UK Government to override laws passed in Edinburgh, by [¥eg 673 95 99 106 125 118 129 365 308 73 112 41 349 343 251 79 443 139 75 6 563 50 61
imposing new restrictions on the Scottish Government in relation to
goods and services, and by removing powers from the Scottish 66%| 63%: 61%; 60% 82%; 69%; 62%| 64%; 68%| 33%; 67% 49%; 87%| 85% 50% 67%| 89%; 35% 71%; 60%| 66%: 54% 74%
g::jg&" :;‘;.anzt::z wae'ffsﬁ“uﬁ?'ﬁmii ':f?:g ‘;'l';e‘"s‘;emsh No 347 56, 63 71; 27 53; 78|02 145] 152; 55; 44 54 60; 248 39) 541 253 31, 4" 284 42 21]
people agree to them in a referendum? 34%| 37%: 39%: 40%: 18%: 31%; 38%| 36%; 32%| 67% 33% 51% 13%| 15% 50%; 33%| 11%; 65%; 29%; 40%| 34%; 46%: 26%
Q9. Before the 2014 independence referendum, the three | Base: All respondents 1020 151 1620 177, 152, 171 207| 567. 453| 225 167 85! 403| 403! 499 118| 497, 392} 105 10[ 847 92! 82|
largest anti-independence parties issued a "Vow" promising
that the Scottish Parliament is permanent. If the changes to (1020) (124); (175); (189); (133); (182); (216)| (554); (466)| (230); (128); (74). (447)| (467). (435) (118) (531); (369)] (94)  (9)| (806); (148); (66)
the Scottish Parliament's powers proposed by the Internal
Market Bill take effect without the Scottish people agreeing  |The Vow will have been kept 374 60: 75 63 49 60; 67| 210: 164 148! 72i 37; 71 95; 242 37| 103; 241 6| 311 36; 27|
to them in a new referendum, do you think the Vow will have 37%|..40%:  47%: . 35%:  33%:  35%: 32%| . 37% 43%:  44%: 18%| 24%: 48%: 32%| 21%: 62% 58%)| 37%: 39%; 34%
been kept or broken? The Vow will have been broken 646 90 87i  11ai  102f 111  140| 356 95 a8 332 308{ 257 81| 394 151 536 56 54
63%| 60%: _53%: _65%: _67%: 65%: _68%| 63%: 57%: _56%: _82%| 76%: 52%: _68%| 79%: _38% 42%|  63%: 61%: 66%
Q10. Do you think the BBC have done enough to make the | Base: All respondents 1020 151, 162, 177, 152, 171, 207| 567, 453| 225: 167, 85, 403| 403, 499, 118 497, 392, 105 10[ 847 92 82
public aware of the changes to the Scottish Parliament's (1020)| (124); (175); (189): (133)! (182)! (216) (554); (466)| (230); (128); (74); (447)| (467); (435); (118)| (531); (369); (94); (9)| (806) (148): (66)
powers proposed by the Internal Market Bill?
Yes! 230 4 51 44; 35 26, 33731 99 85 54 23 43 62 {52 16 70; 144 i1 k] 5 22 17
23%|  28%: 32%: 25%: 23%: 15%: 16%|  23%: 22%| 38%: 32%: 26%:  11%)| 15%: 30%: 14%| 14%: 37%! 10%: 34%)|  23%: 24%: 21%
No 790 109! 111i 133f 117 145 174|436  354| 140 113 63 360| 341 3471 102 427 248 95 7|"656: 70 65
77%| _72%: _68%: _75%: _77%: _85%: 84%| 77%: 78%| 62%: _68% _74%: 89%| 85% _70% 86%| 86% _63% _90%: 66%| 77% _76% _79%
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[Base: 1,020 Total Gender X Age SEG 2019 Westminster 2014 Scottish Scottish Referendum Voting ‘Country of Birth
Referendum Intention
Male x | Male x { Male x ; Female ; Female {Female | ABC1 | C2DE | CON { LAB { Lib SNP |Tvoted {Ivoted } 1did | Yes No ! Don't } Would | ScotlaniEngland} Other
16-34 § 35-54 | 55+ ix 16-34ix 35-54i x 55 Dem Yes No  not know i not d
Total 1020 151 1620 177, 152, 171 207| 567, 453| 225! 167 85 403| 4037 499! 118] 497] 3920 105 10[ 847 92! 82}
(1020)| (124); (175); (189); (133): (182)! (216)| (554); (466)| (230): (128); (74); (447)| (467). (435); (118)| (531). (369); (94) _ (9)| (806). (148); (66))
QL1. If Scotland does not become an independent country | Base: All respondents 1020 151 1620 177. 152, 171 207 567. 453| 225 167 85! 403| 403 499 118| 497 3921 105 10[ 847 92; 82|
over the next ten years, and if the Conservatives remain in (1020)| (124)! (175)! (189); (133): (182): (216)| (554); (466)| (230) (74); (447)| (467): (435); (118)| (531); (369): (94).  (9)| (806): (148) (66)
power at Westminster, which of the following three outcomes [The UK Conservative government will 237 30 48 58 27 31 42[" 1308 o7 104! 20 a8 541 167 16 S6i 159 20 1[ 7195 24 17
do you think is most likely? substantially increase the Scottish
Parliament's powers 23%| 20%: 30%: 33%: 18%} 18%: 20%| 23%: 24%)| 46%: 26%: 23%: 12%)| 13%: 33%!: 14%)| 11%} 41%: 19%! 14%)| 23%} 26%: 21%
The UK Conservative government will 561 84 80 85 99i 100:  114| 321  240) 88 99 47 "236| 2290 251 82| 294 177 71 6| 452 53 56
substantially reduce the Scottish
Parliament's powers 55%| 56%; 49%; 48%: 65%; 59%: 55%)| 57%:; 53%| 39%: 59% 55%: 59%| 57% 50% 69%| 59% 45% 67%; 63%| 53% 58% 68%
The UK Conservative government will 223 37 34 34 26 39 51T 107 32 24 180 120) 121 81 20147 56 14 2|7 199 14 9|
abolish the Scottish Parliament
altogether 22%| 25%} 21%; 19%: 17%} 23%: 25%| 20%: 24%)| 14%: 14%: 21%: 30%| 30%: 16%: 17%| 30%} 14%; 14%; 23%)| 24% 16%: 11%
NET reduce/abolish 783|121 113i 119 124 139  165|  437.  346|  121i 123 65; 355 349! 3320 102 85 9| 651! 68 64
77%| _80%: _70%: _67%: _82%; 82%: 80%| 77%: 76%| 54%: 74% _77%: 88%| 87%: 67%} 86% 81%: 86%| 77%: 74%i 79%
Q12. If the UK Conservative government substantially Base: All respondents 1020j 151 162; 177 152 171 207 567: 453 225 167; 85 403 403: 499: 118 105; 10| 847 92 82
reduces the powers of the Scottish Parliament or abolishes (1020)| (124)i (175): (189): (133): (182): (216)| (554); (466)| (230): (128): (74); (447)| (467): (435): (118) (94), (9)]..(806); (148): (66)|
the Scottish Parliament altogether, would you be more likely |ijgreTjiiceiy 704" i2 T I03] 114l 126l 122 127|7 384) 320 621 118 50" 371|365 248 91 96 6| 550 52 62
or less likely to support Scotland becoming an independent 69%)| . 74%; _63%; 64%:  83%: 72%:  61%| 68%: 71%|  27% 71%: _59%: 92%|  91%: 50%: _77% 91%: _ 57%|  70%; 57%: _ 76%
country? Less likely 316 39 59 63 26 49 80 182; 134] 163! 49 35 32 38 251 27 9 4] 257 40 19
1%|  26%; 37%} 36%: 17%; 28%: 39%| 32% 29%| 73% 29%;: 41%: _ 8%| 9%} 50%; 23% 9%: 43%| 30%; 43%; 24%
Q13. Do you think the Scottish Government should ensure | Base: All respondents 10200 151 1620 177, 152 171 207| 567, 453| 225! 167 85 403
the Scottish people are given a choice on independence over (1020)| (124); (175); (189); (133) (182): (216)| (554); (466)| (230): (128): (74)i (447)
the course of the next parliamentary term, or should it The Scottish Government shouid 643|106 91 90; 124 349)294] 32 374
accept that the UK Government has a veto on an ensure the Scottish people are given 3%| . 71%:  56%: 51%:  82% 62%:  65%|  14% 93%
independence referendum? The Scottish Government shouid 377 44 71 87 27 218 159| 193 29
accept that the UK Government has a | 37%| 29%: 44%: 49% 18% 38%; 35%| 86% 7%
veto on an independence referendum
Q14. The SNP's policy is that if Scotland becomes Base: All respondents 85 403
independent, a new Scottish currency would be introduced as (74); _(447)|
soon as practicable after Independence Day, to ensure that |4~ Completely agree 147218
Scotland has control over its own monetary and fiscal policy, 17%:  54%|
and interest rates. To what extent do you agree or disagree |3~ Somewhat agree 23132
with this policy? 27%:  33%|
2-'Somewhat disagree 20 33
23%; 8%
1~ Completely disagree 29 20
34%: 5%
Net: Agree (3-4) 377350
3 87%
Net: Disagree (1-2) 48 53
57%; _13%|
Net: Difference (4+3-2-1) 118297
-13%i ... 74%)
Mean score 2.3 3.4
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Fiase: 1,020 Total Gender X Age SEG 2019 Westminster 2014 Scottish Scottish Referendum Voting Country of Birth
Referendum Intention
Male x { Male x | Male x {Female | Female Female | ABC1  C2DE | CON [ LAB | Lib | SNP |Ivoted [Ivoted! Idid | Yes No | Don't } Would | Scotlan England} Other
16-34 § 35-54 | 55+ ix 16-34ix 35-54i x 55 Dem Yes No | not know | not d
Total 1020 151, 162, 177, 152, 171,  207| 567, 453| 225, 167, 85, 403| 403, 499 118 497, 392, 105 10[ 847 92 82
(1020)| (124)} (175). (189)! (133)] (182)! (216)| (554). (466)| (230). (128) (74). (447)| (467). (435) (118)| (531)} (369) (94)  (9)| (806). (148). (66)
Q19. How good or bad a job do you think the following Base: All respondents 1020j 151 162 177 152 171 207 567: 453 225 167: 85 403 403 499: 497: 392 105 10| 847:
leaders are doing in their response to the coronavirus/ (1020)| (133) (182): (216) (74);_(447) (435) (531). (369); _(94). _ (9)| (806)
COVID-19 outbreak? ...Boris Johnson, UK Prime Minister 5 - Very Good 1 4 39 10 38 1 5] 46;
1% 8% 2%:..10%:  <1%:  48%| . 5%
4 - Good 20 84; 39: 90 6: 1 111;
5% 17% 8% 23% 13%
3 - Neither 42 91 46; 83 132
11% 18% 9%: . 21% 16%
2 - Bad 79| 114 97 86; 176
20% 23% 20%:  22% 21%
1 - Very Bad 255 167: 302 93 373
63% 34% 61%; . 24% 44%
Don't know 3| 4; 3; 3; 8
<1% <1% <1%:  <1% <1%
Net: Good (4-5) 9; 24 122 49 128 157:
11%: 6% 25% 10%:  33% 19%
Net: Bad (1-2) 65 334 282 399 178 549
76%: __83% 56%:
Net: Difference (5+4-2-1) -55 -310 -159; -350; -51; -392;
-65%:..-77% -32% 70%: .-13% -46%
Mean score 1.9; 1.6 2.4 1.7 2.7; 2.1;
Q19. How good or bad a job do you think the following Base: All respondents 85 403 403 499:
leaders are doing in their response to the coronavirus/ (74); (447)| (467): (435)
COVID-19 outbreak? ...Nicola Sturgeon, First Minister of 5 Very Good 18 1g6| 186 89
Scotland 21%:  49%| . 46%:  18%
4 - Good 39:; 162 155 165
45%;  40%)|  38%: _33%
3~ Neither 15 28 35 68;
17%:. ... 7%|... 9%:  14%
2 - Bad 13 8| 10 74 0|
15% 2% 2% 15% 0|
1 - Very Bad 1 10| 16 101; 0|
12%| . 11% 17% 32%;. 17%:. . <1%! .. 2% .. 4%: . 20% 0|
Don't know 7| 1 1 1 1 0; 0| 2; 2; 0|
<19%| <1%; <1%: <1%: <1%; <1%; 0: 0| <1%; <1%; 0|
Net: Good (4-5) 673] 96 921114 71 o1 5773583408253 8|
66%)|...64% 32%;.. 54%:  67%....89%)  84%:  51% 0%,
Net: Bad (1-2) 214 28 118 45 14 17| 26 175 0|
21%|  19% 53%:  27%  16%:  4%|  6%: 35% 11%| 4% _48%: 6% 0| 21%: 25% _ 13%
Net: Difference (5+4-2-1) 459 68 -47 6 437734031 78 66| 418 46 71 8| 29 a3
45%| . 45%: . 22% 21%; . 28%:  51%:  84%|  78%:  16% 56%)| . 84%: -12%i  67%; . 8! 32%;.. 53%)
Mean score 3.6 3.6 3.2; 2.6 3.3 3.7; 4.3 4.2 3.1; 3.7] 4.3 2.7 3.9; 4.2 3.6 3.4 3.7]




JN:W7181w27

11/11/2020

Panelbase Political Polls

[Base: 1,020 Total Gender X Age SEG 2019 Westminster 2014 Scottish Scottish Referendum Voting Country of Birth
Referendum Intention
Male x : Male x ; Male x ;Female ;Female ; Female | ABC1 ; C2DE CON LAB Lib SNP [Ivoted :Ivoted ; Idid Yes No Don't | Would | Scotlan:England; Other
16-34 ; 35-54 55+ ix 16-34ix 35-54; x 55 Dem Yes No not know not d
Total 1020 151 162 177: 152 171 207 567; 453 225 167: 85! 403 403; 499; 118 497; 392 105 10| 847; 92 82|
(1020)| (124); (175);: (189): (133): (182): (216)| (554); (466)| (230): (128); (74); (447) (467); (435): (118)| (531); (369); (94) (9) (806); (148): (66)
Q19. How good or bad a job do you think the following Base: All respondents 1020 151 162 177 152 171 207 403 499: 497 392 105: 10| 847 92
leaders are doing in their response to the coronavirus/ (1020)| (124): (175): (189): (133): (182): (216) (531): (369). (94). (9)]..(806): (148).
COVID-19 outbreak? ...Angela Merkel, Chancellor of Germany 5 - Very Good 4 154 15!
37%)...18%: . 16%:
4 - Good 0 273 32
0| ..32%;: 35%:
3 - Neither 4 200 20
44%) . . 24%:; . 21%
2 - Bad 0 47 6
0| 6% 6%
1 - Very Bad 0 36 2
of . .4% . 3% 0
Don't know 2 138 17; 5
20%|  16%: 19%: 6%
Net: Good (4-5) 4 427 47: 54
37%|...50%;  51%  67%
Net: Bad (1-2) 0 82 8 3
0| ..10%: 9% 3%
Net: Difference (5+4-2-1) 4 344 39 52
37%|...41%; . 42%  64%|
Mean score 3.9 3.7 3.7 3.9

Q19. How good or bad a job do you think the following
leaders are doing in their response to the coronavirus/
COVID-19 outbreak? ...Donald Trump, President of the USA

Base: All respondents

5~ Very Good

4 - Good

3 - Neither

2 - Bad

1~ Very Bad

Don't know

Net: Good (4-5)

Net: Bad (1-2)

Net: Difference (5+4-2-1)

-74%]

270%: ... -79%

Mean score

1.6 1.5




